Nkme ‘IQL\kldazun 8:«1‘0’?.1 godt!« OB-_,&L-O 63
L TD:  vukhsanabatovlz g S@WJ Comn,

4. l/\)‘-\q vv\o.ﬁ‘l'. "{ wh J?-o.l} A qgf'; e%«\j _(:_q.(
Sei-ﬁ.-\abwvcmucl? i :

Ac,c_wplq fo Hhe wn{'cq oSt 6) M-gﬂ.hj

T Owr e.-%f“-\ ﬁw sz_((i-"w\bww.mu(i be Coanng.

] o~ ced o’b—HmAi 3“14 Sor ouvselves

40@5 we har §L~m44uy- %th

answer.

Hune  schemes- ——TFhere-should-be-atleast 2-sentenges in the

i

-y 73 7t o ba nistale do gancuice owr
\Y)

vesolobvn Lo ervembela? ~Answer shoulnd be 5-7

vy V
Tt o bon eskle b canewa Sug

T

resolulon o QNQ{LLDJ"] becarsz  of Soo"‘zkj

0
Ip-reAAu:P- Az & ;.ewamkmﬁré'-( we anr<

Ifill
wosble o LA Ale pesody |
: vvnencve fail, It makes us 190k

_fool_lsh

}&nwf\ on  New YA’J [>4v-1 7

He. «m The v’%u’ﬁbmﬁmﬁkc’mvd.

by sdahibior s aes Musils Do dor

b an ownighd PAA(‘;}L , Nw Meays |

CamScanner


https://v3.camscanner.com/user/download
M. Ali Raza

M. Ali Raza
There should be at least 2 sentences in the answer.
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When we fail, it makes us look foolish.
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Answer should be 5-7 lines long 
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